AFM NCFE PRacTice  ACT, 22
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How does the graph of g(x) = 0.5c08(2x) dlfrer fram the graph of lts parent
function, fix) = cos(x), ovar the interval ~x < ¥ =7

A - The amplitude is smaller, and the period is shorter,

B The amplitude is sm_a!ier, and the perio&- is longer.
¢ The amplitude is larger, and the perlod is shorter.

o

The amplitude I3 larger, and the' perlod Is longer,

@ A group of 12 people need to form a line. The line will consist of éxactly 9 of the
people. Person X and Person Y have to be either third or fourth in line. How many
different orders are possible? ' '

A 79,833,600
B 1,209,600
C 604,800
D 362,880

@ This graph summarizes the test scares of 50,000 students, The data ig twrmallir distributed
with a mean of 81 and a standard deviation of 2.5,

Student Scores

A et A5 UBLD 835 880 885

Trdentify the reglons under the curve where only the data for approximately 23,750 students
are located, : /:'
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Which statement i true about the fifth terms of the two sequences below?

8,mdn-6 ‘
b, =3, -6 b =10
The-fifth term of the recurgive sequence exceads the fifth term of the explicit
géquence by 63, _
‘Fhe fifth term of th_e exp!lci:t sequence axceeds the fifth term of the recursive

gaguence hy 83,
o Ty

The fifth term of the recursive sequence exrﬁgﬂq tl:i:‘igh term of the explicit

sequenca by 21, p "‘3‘,»% r ,

The fifth term bf the expliclt seQUenCG{qxéﬁgqﬁhghﬂﬁh term of the recursjve
sequunes by 21. Y . :

. Which function has an amplitude that Is twica the size and a perlod that Is

three times the size of the function ¥ = 3cos(§ - 1) +27

A ynesm({-‘i-a)n

) Y= %cus.(%ﬁ + 1) -3
C y= 600"5(%;—‘- - 1) + 3 . T

D ¥ =§sln[-1-"§+3)-1
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A nlape takes off and travels at an angla of 40° north of east at 110 mph for

2 hours, 1t then adjusts Its path to hegd~10° west of north and travels in that
directioh far half an hour &t a sposd of 100 mph. Approximately how far away 16
the plana from fts starting polnt¥
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' Suppose the fu'nctioﬁ H(t) = 8.55fn(0.017"t ~ 1.35) + 12 models the hours of
" sunlight for a town In Alaska, where ¢ = 1 Js the first day of the year. Based on the
- function, what is the appreximate range of daylight hours for the town? o
A 3.5t0 20.5
4 to 20
4.5t0 19.5

5to0 19
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@ Which function tesyitgh ;%ﬁhwmph of ¥ = In(x + 3) ~ 6 to the l6ft 4 units

A

C oy witx - -3

hydroniu. ion eORCANErELIGT,. in-rholas pet fiter, & sampl )
s et LT, e sl ALy TR RAIS PRT e ple of coffee has a pH of
5.0, Wit s.tfio apsieoximaka hydranlumm 107 conceiifestion of the SAMIDIE? -

o
Asolutisin’s pH I5 given by the fuinction p(2) = -log(t), whera.¢ Is the
A 6.000001

|

B 0.00004
¢ o.0001 ¢

(1)

Wirite an equation for the power, i %&éﬁ% y = ax? form, that passes through the

points (2, 1) and {3, 6). & & | ‘
o Useyour ﬂm%gmct ' @E’ﬁméla& the value of y when ¥ » 9.
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| | Atheater has 25 seats in the first row, 27 in the second
row, .2'.9'. in the third row, and 5o on.

a. How many seats ave in the 50 row?
h. How many seats are in the entire _theatér?

¢ lf the theater makes $15 per seat, how much money
should they expect to make at a sold-out show?

@ Uke o power Huation to swde] the dutn ond
I eslitate ypfarx Hi, :

®

" A sequence Is shown below, | o
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What Is the sum of the sequence?
/
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The scores on a recent test are normally distributed. John's test score of 69 was

1 standard deviation befow the mean. Betty’s test score of 99 was 3 standard
deviations above the mean. What are the mean and standard deviation for the test
score distribution? - :

A The mean Is 76.5, and the standard deviation is 7.5.
B The mean is 79, and the standard deviation is 10.

C  The mean Is 84, and the standard deviation Is 15,

D  The mean is 91, and the standard deviation is Zﬂéﬁ

The following sequence is given in recursive form.

@y = 8
a, =2ay_4 + S, forn>2

What is the value of the third term of this sequence?

ﬂa?«'x‘a_;

A gequence is shown below.

1, 0.1, 0.01, 0,001, § 690’1‘%-,

L.
1
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What Is the sum of the sequence? - ., 1'2'?‘, &
L 1 ¢ 1_2. 4::‘:#} .:"y'qh“.
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O
lm How far away is the fire from observation tower A?

é‘i 7 10 miles

.....

Which statement is true about thesser Rgwn below? ;
. Y
“4+*‘2-,;g’-*-1+ '+-1—+...

| 4
The series cowsr@es’hacage IH <1.
The serles dlgberggs be&ause Irl <1,

The serl%és.,cgrhrerges because Irl > 1.

O a0 = »

The series dlverges because I »1.

\ 1f the probability of glving birth to a boy is 0.52, what is the approximate
probability of giving bitthto four consecutive boys?

A 0021
B 0.062
¢ 0073
D 0.130

A manufacturing plant produces a special kind of lightbuilb,

. Each lightbulb produced has a 0.040 probability of being defective,
. Five lightbulbs are chosen at random from the production line.

To the nearest thousandth, what is the probabillty that exactly two of the
five bulbs will be defectlve?

A 0.014
B 0.016
C  0.018 s
D 0.020
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( What 15 the explcit form of the eguation o,
A a,=2n-1
i = el
C  a,=«w 242
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